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1、 语法填空
[bookmark: _GoBack]Francie Nolan is an 11-year-old girl 1________ (live) in the slums of Brooklyn, New York. Her family 2______  (be) so pool that she and her brother have to collect junk to exchange for money. But Nolan is humble and works hard 3________  (change) her life. She helps her mother do housework and spends every afternoon 4________(read) at the library. However, because of 5________  (poor), Nolan has to leave high school and find a job, 6________  life is full of ups and downs. This is 7________  story of the novel A Tree Grows in Brooklyn by US author Betty Smith. First 8________  (publish) in 1943, the novel covers five different periods in Nolan's life. Millions of readers 9 ________ (inspire) by Nolan’s bittersweet story ever since. It was named 10 ________ one of the best books of the 20th century by the New York Public Library. 
二、短文改错
   As was reported that there was an accident at a corner of the Roman Street in this morning. A car ran into a truck and fortunately, nobody got injured. Who will be responsible for an accident is still under investigation. What the police should do now is that they must find out what led the accident. They said it was difficult of them to judge because how the accident happened was not clear. Perhaps the reason was that the driver was too tiring to stop the car in time. The driver didn't admit the fact that he is driving too fast at the turning. The police doubted that what he said was true and decided to make a farther investigation. 




